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First Semester (1433/1434)
First Mid-Exam (Badeel), M-106

Programmable Calculators are Not Authorized

[Name: = — - aNumber. |

[Name of Teacher: ~ ~ ~ ~ | Group No: |
Max Marks: 25 Time: 90 minutes
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Q.No: 1 [2 |3 4; 51 6[7 18 |9 J10
lab.o7] I A
Cetenesn: LU ‘
Q. No: 1 5 -= T-¢ is equal to:
& 42
~ 1.0013 b) =~2.0013 c) ~0. 0013 non of these
(a) )
/ X 7
Q. No: 2 If f(z) = log;,(logyo ?), then f'(z) is equal to: T’S”"‘"/* KW/&Q’\@?’\”SW P
1n(10) T
() ) —
’@ zIn(z) (®) In(z) In(10) (c) zln(z )ln(lo) (d) non Of these
Q. No: 3 The domain of In(In(z) — e), is equal to:

@ Je, +00) ®) (0,400) (c) (—o00,-+00) (d) non of these

4 If/[l ‘JDHQQ( )dx =3 [ln]x]]3 then g(z) is equal to:

FS 2 2
72 1n |z @ Z;T (c) ln?x) (d) non of these

: 5 The average value of f(z) = exp( -)(2z 4 1) on the interval [1, 2] is:
e”

50 T 49

Ma) Sexpl) () — e (o) 39exp(—) (d) non of these
o 3 e! 3 e~! Lk
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: 6 The intergral / Mdaz is equal to:yc_p}(@s\" 0 m(ﬂ = Sinlik
sinh(z)
@ sin(lnz) +c¢ () —sin(lnz)+c (¢) cos(lnz)+¢ (d) non of these
5tanz \
27 5 dz is equal to: Btﬁ\m(
cos?(z) (05 0
1 tanz 1 T 1
(a) n(5) 50 ¢ (b) n(5) 5% + ¢ @ ) Stan(z) + ¢ (d) non of these
sinh(z2¢)
: 8 d%[/ sin(2t)dt] is equal to:
-1

(a) cos(2z?) (b) 2z cos(2sinh(z?)) (c) 2ex cosh(x?)sin(2sinh(z%)) (d) non of these



dr = f(z) + c then f(z) is equal to:

Q. No: 9 If/1+3x2

(\\g)\) %tan‘l(Bm) (b) itan_l(x/gzzt) (¢) %tan’l(\/g:r) (d) non of these

V3
. B LT Cognlix
Q. No: 10 If f(z) = In[cos(11z)] then f (2) is equal to: ——i&?‘f{"
[
(a) 0 @ 1 () oo (d) non of these



Full Questions
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Question No: 11 Evaluate the integral
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Question No: 13 If f(z) = (coth(z)z™* + =

Question No: 14 Evaluate the integral /

n—5

sech(x)

log (cosh(:c)-}-e

n
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) find f'(z).
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